Construction division. Advice for giving credit to contractors/suppliers.

1	lo. – site bills		790			- site bi	ills	02/08	וכנחכו
regis		7	798		Regis	ster		Dejoi	72021
	pany Name:	1	1PL		Site:			02/08 MF6	ર્ગ
	e of Contractor	G	Tisupa	thi					
Natu	re of work	_	taing, Co		ting	and fo	ad bev	iding w	ork
Wor	k done	From	n Date		4/20		o Date	// .	6/2021
Sl. No.	Villa/Flat/block no). (Qty.	Rate	•	Units	Amou		Contractors bill no
(1.)	Swimmingpool	2.00	1.000.00	32.	Ω	Sff	32 (XXX-00	0.11.20
2.	Course of fraction	ca	1,000	<u> </u>		-V	102,0		
(3)	Swimming problew	all							
4.	plastoring.		1.000-00	10	•00	5/4	10,0	00.00	
5.			,			U		1	
6.									
7.									
8.									
9. 10.		_							
11.	T	atalı						5 5T	/
		otal:	017.02		CCT	h:11		200-00	
	equired		ES NO.			bill requ			
	surement & nate sheet:	1	equired ot required			surement ate sheet		Enclos	
	VO no.		or required			VO date:		□ Not er	iciosea
Rema	arks :								
			~						
							-		
Appr	oved by Project Ma	nager	Appro	oved b	y Desi	gn Team	n Ap	proved by	M.D.
Date:	2/8/2021		Date:				Dat	te:	
Sign:	1-81		Sign:				Sig	n:	

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

Bill for Equipment Allowance

G.Tirupathi. HNo: 4-114/8/1, Ramanthapur, Amber pet. Hyderabad.

Date: 02-08-2021

In favor of:

MPL

Project / Site: Location:

MFP 82/1. Mallapur

Type of Work:

Centring, Concreting and Rod bending work.

Towards:

Allowance for Equipment.

C 21	Description	Amount
S No.		
1.	Brief description of work done: Towards TOT LOT	
	Swimming Pool Walls. Total amount = Rs. 42,000.00/-	Rs. 16,800.00/-
	Work done from date 10-04-2021 to 29-06-2021	

Amount in Words: Sixteen Thousand Eight Hundred Rupees Only.

Bill for Consumables

G.Tirupathi. HNo: 4-114/8/1, Ramanthapur, Amber pet. Hyderabad.

Date:02-08-2021

In favor of:

MPL

Project / Site:

MFP

Location:

82/1. Mallapur

Type of Work:

Centring, Concreting and Rod bending work.

Towards:

Allowance for Consumables

	Description	Amount
S No.	Description	
1.	Brief description of work done: Towards TOT LOT	Rs. 8,400.00/-
	Swimming Pool Walls.	AS: 0,400:00/
	Total amount = Rs. $42.000.00$ /-	
	Work done from date 10-04-2021 to 29-06-2021	

Amount in Words: Eight Thousand Four Hundred Rupees Only.

Sign:

Bill for Labour charges

G.Tirupathi. HNo: 4-114/8/1, Ramanthapur, Amber pet. Hyderabad.

Date: 02-08-2021

In favor of:

MPL

Project / Site:

MFP

Location:

82/1. Mallapur

Type of Work:

Centring, Concreting and Rod bending work.

Towards:

Allowance for Labour charges

S No.	Description	Amount
1.	Brief description of work done: Towards TOT LOT	
	Swimming Pool Walls.	
	Total amount = Rs. $42,000.00$ /-	Rs. 16,800.00/-
	Work done from date 10-04-2021 to 29-06-2021	

Amount in Words: Sixteen Thousand Eight Hundred Rupees Only.

ESTIMATE SHEET Company Name: MPL Prepared by: R. Ashok Company Name: May Flower Platinum R. Ashok Project: Work Description: TOT LOT Swimming Pool Wall Hours of the part of the project of the							A A A A A A A A A A A A A A A A A A A	
MPL Prepared by: R. Ashok May Flower Platinum TOT LOT Swimming Pool Wall R. Ashok G. Tirupathi G. Tirupathi Wall I at TOT LOT Quantity Units Rate Amount Wall Plastering 1,000.00 Sft 32.00 32,000.00 Wall Plastering 1,000.00 Sft 10.00 10,000.00	1					ees Only.	Amount Inwords: Fourty Two Rup	
MPL Prepared by: R.Ashok May Flower Platinum TOT LOT Swimming Pool Wall R.Ashok G.Tirupathi G.Tirupathi Units Rate May Flower Platinum D. TOT LOT Swimming Pool Wall Vall G.Tirupathi Units Rate Amount I at TOT LOT I tem Description Quantity Units Rate Amount Wall Plastering 1,000.00 Sft 32.00 32,000.00 Wall Plastering 1,000.00 Sft 10.00 10,000.00	1						Grand Total:-	
MPL Prepared by: R. Ashok May Flower Platinum R. Ashok TOT LOT Swimming Pool Wall TOT LOT Swimming Pool Wall G. Tirupathi 92.08.2021 In Head Item Description Quantity Units Rate Amount Wall 1,000.00 Sft 32.00 32,000.00 Wall Plastering 1,000.00 Sft 10.00 10,000.00	1							
MPL Prepared by: R. Ashok May Flower Platinum TOT LOT Swimming Pool Wall R. Ashok G. Tirupathi G. Tirupathi May Flower Platinum G. Tirupathi D2.08.2021 Rate Intem Description Quantity Units Rate Amount Wall 1,000.00 Sft 32.00 32,000.00		10,000.00	10.00	Sft	1,000.00		Swimmingpool Wall Plastering	2
MPL Prepared by: R. Ashok May Flower Platinum TOT LOT Swimming Pool Wall G. Tirupathi 02.08.2021 Item Description Quantity Units Rate Amount		32,000.00	32.00	Sft	1,000.00		Swimmingpool Wall	1
MPL Prepared by: R.Ashok May Flower Platinum TOT LOT Swimming Pool Wall G.Tirupathi 02.08.2021 May Flower Platinum G.Tirupathi Units Rate Amount	1	22 000 00					Swimming Pool at TOT LOT	
MPL Prepared by: R.Ashok May Flower Platinum TOT LOT Swimming Pool Wall G.Tirupathi 02.08.2021		Amount	Rate	Units	Quantity	Item Description	Item Head	S No.
MPL Prepared by: May Flower Platinum TOT LOT Swimming Pool Wall G.Tirupathi	.					02.08.2021		Date:
MPL Prepared by: May Flower Platinum TOT LOT Swimming Pool Wall						G.Tirupathi	ctor Name:	Contrac
MPL Prepared by: May Flower Platinum					Wall	TOT LOT Swimming Pool	Description:	Work I
MPL Prepared by:						May Flower Platinum		Project
			R.Ashok		Prepared by:	MPL	ny Name:	Compa
							MATE SHEET	ESTIN

MEASURE	MEASUREMENT SHEET								
Company Name:	ne:	MPL	Prepared by		R. Ashok				
Project:		May Flower Platinum							
Work Description:	tion:	TOT LOT Swimming Pool Wall	l Wall						
Contractor Name:	me:	G. Tirupathi							
Date:		02.08.2021							
			Α	В	С	D	E=AxBxCxD	Ŧ	G=Sum of E
S No.	Item Head	Item Description	Length	Width	Height	Nos.	Quantity	Units	Item Head Total
Swin	Swimming Pool at TOT LOT								
1 Swin	Swimmingpool Wall	Inner Wall Face	122.00	1.00	4.00	1.00	488.00	Sft	
		Outer Wall Face	128.00	1.00	4.00	1.00	512.00	Sft	
									1,000.00
		-							
2 Swin	2 Swimmingpool Wall Plastering								
Swin	Swimmingpool Wall	Inner Wall Face	122.00	1.00	4.00	1.00	488.00	Sft	
		Outer Wall Face	128.00	1.00	4.00	1.00	512.00	Sft	
									1,000.00

.